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if condition:

body ‘Ju/ s
else: y /bA&”
else body

1  import math
2 a = float(input("enter a:"))
3 b = float(input("enter b:"))
4 ¢ = float(input(“"enter c:"))
5 d = b¥*%2 - 4 @%a*c
5 if(d < ©.9): sl diy, quwlie s Jlo
7 print("No real root :(")
s else: 9 4, Uylze
9 discRoot = math.sqrt(d)
16 rootl = (-b + discRoot) / (2 * a)
11 root2 = (-b - discRoot) / (2 * a)
12 print()
13 print("The solutions are: ", rootl, root2 )
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elif ;I oylswl

Z A (C++ 07 5 switch Jslas)

1 a = int(input("enter a digit: ")) 1 a = int(input(“enter a digit: "))
2 | if a == @: 2 if a == @:
: S 3 print("ZERO")
i e 4 elif a == 1:
5 1'F d =? . 5 pr‘int("DNE")
6 print ("ONE") ‘ 6 | e1if 3 == 2:
: if a _T £("TWO" 8 Elif a == =

prant( ) 9 print("THREE")
10 else:
11 3E 3 — 18 else:
12 orint ("THREE") 11 print("More than THREE")
13 else:

14 print("More than THREE")



while cbonddition: _bﬂ:, U"L‘"’ﬂ/’/‘f
ody

for var in sequence: 18 [DU/)I,u}'Q/I,f

body
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n = int(input("enter a number:"))
m = n
num_digits = 1
while m >= 18©:
num_digits += 1
m//= 1@

N

00O~ 0w & W

print("Num of digits for %d: %d"%(n,num_digits))

enter a number:874837
Num of digits for 874837: 6
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Euclidean Algorithm for GCD(m,n)

= int(input("enter a number: "))

#
n
m = int(input("enter another number:"))

1

2

3

4 while(n % m != @):
5 r=n>d%m

6 n=m

7 m=r

8

9

enter a number: 24
enter another number:16
8
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# Printing 1 to n

n = int(input("enter a number: "))

i=1 OO cw! pxiio | >l Olady ol 4=l

while(i <= n):
print(1)
i+=1

(o TRV o B < TV LI N B

1 n = int(input("enter a number: "))
2 for i in range(1l,n+l):
3 print(i)
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1 n = int(input("enter a number: "))
2 for i in range(1,n+1,2):
3 print(1)

enter a number: 18

O ~J v w R
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while True:

n = int (input ("
sum digits = 0
1f (n<0) :

n = -n
while n>0:

sum digits += n%10

n //= 10
if sum digits == 10:

break
print ("Sum of digits is %d"%(sum digits))

enter a number: "))
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for 1 in range (10):

n = int (input ("enter a number: "))

ifn % 2 == 1:
continue

sum digits = 0

1f(n < 0):
n = -n

while (n>0) :
sum digits += n%10
n //= 10

print (sum digits)



